
Retractable side awning  

   INSTRUCTION MANUAL



1NL



2NL



3NL



4NL



5NL



6NL



7NL



1FR



2FR



3FR



4FR



5FR



6FR



7FR



1DE



2DE



3DE



4DE

4. Schieben Sie das Kassettenteil in die Halterung und ziehen Sie dann die M6 x 16
Flachzylinderkopfschraube mit dem CR-V5mm Sechskantschlüssel fest.

5.



5DE

6.

7.



6DE



1ES



2ES



3ES



4ES



5ES



6ES



1IT



2IT



3IT



4IT



5IT



6IT



1

Side Awning

EN



2

THE FOLLOWING ITEMS ARE INCLUDED IN THE DELIVERY SCOPE

Framework (1x) Cassette (1x)

Brackets (2x)

EN



3EN

10x50 Anchor bolts

M6x60 Hexagon wood screws

6 Washers (4 pieces)

10x50 Anchor bolts

M8x75 Hexagon wood screw,

8 Washers (4 pieces)

User manual (1x)



4EN

Please prepare the following tools for installation (not included in the delivery 
scope)

INSTALLATION

1. Measuring tape
2. Hex wrench CR-V5mm
3. Phillips screwdriver
4. Drilling machine

Warning: When installing the awning, hold the main part and support column horizontally, 
since the screen will deform otherwise, and it will become difficult to open and close the 
product.

1. Drill holes of 6 cm in depth according to the picture below.

10-mm masonry drill

cross section 
of wall

Cross section of wall



5EN

2. Insert one 10x50 mm anchor bolt into each of the holes.

3. Secure the bracket with a M6x60mm hexagon screw.

4. Insert the cartridge part into the bracket, tighten the flat cylinder head screw
M6 x 16mm using the hexagonal wrench CR-V5mm.

cross section 
of wall

10-m
m

 m
asonry drill

10-mm masonry drill
Cross section of wall



5. Drill four holes of 10 mm in diameter into the floor; for size please refer to picture 5.

6EN

6. Insert one 10x50mm anchor bolt each (total 4 pieces).

7. Align the left bottom hole of the frame with the hole in the floor and tighten with an
M8x75mm hexagon wood screw.

CORRECT USE

1. Hold the front slat upright. Hold the handle and slide it over the framework. Keep
holding the handle and press the handle shaft for the bolt to lock in the handle. Then
insert the handle into the framework.



7EN

2. To close the awning, hold the handle and pull the handle shaft upwards. Hold the
screen horizontally and slowly push the handle back towards the cover.



1

Markiza boczna

PL



2

NASTĘPUJĄCE ELEMENTY SĄ ZAWARTE W ZAKRESIE DOSTAWY

Rama (1x) Kaseta (1x)

Wsporniki (2x)

PL



3PL

Śruby kotwiące 10x50

Wkręty do drewna sześciokątne M6x60

6 podkładek (4 sztuki)

Śruby kotwiące 10x50

Śruba do drewna sześciokątna M8x75,

8 podkładek (4 sztuki)

Instrukcja obsługi (1x)



4PL

Proszę przygotować następujące narzędzia do instalacji (nie uwzględnioo w 
zakresie dostawy)

INSTALACJA

1. Taśma pomiarowa
2. Klucz imbusowy sześciokątny CR-V 5 mm
3. Wkrętak Phillips
4. Wiertarka

Ostrzeżenie: Podczas instalowania markizy trzymaj główną część i kolumnę nośną 
poziomo, ponieważ w przeciwnym razie ekran odkształci się i trudno będzie otworzyć 
i zamknąć produkt.

1. Wywiercić otwory o głębokości 6 cm zgodnie z poniższym rysunkiem.

10 mm wiertło do muru

Przekrój 
ściany

Przekrój ściany



5PL

2. Włóż jedną śrubę kotwiącą 10x50 mm do każdego otworu..

3. Zamocuj wspornik za pomocą śruby sześciokątnej M6x60mm.

4. Włóż część kasety do wspornika, dokręcić śrubę z łbem walcowym M6 x 16 mm
za pomocą klucza sześciokątnego CR-V 5 mm.

Przekrój 
ściany

10 m
m

 w
iertło do m

uru

10 mm wiertło do muru
Przekrój ściany



5. Wywiercić w podłodze cztery otwory o średnicy 10 mm; rozmiar patrz rysunek 5.

6PL

6. Włóż jedną śrubę kotwiącą 10x50mm do każdego otworu (łącznie 4 sztuki).

7. Wyrównaj lewy dolny otwór ramy z otworem w podłodze i dokręć śrubą sześciokątną
do drewna M8x75mm.

PRAWIDŁOWE UŻYCIE

1. Przytrzymaj przednią listwę pionowo. Przytrzymaj uchwyt i przesuń go po ramie.
Trzymaj uchwyt i naciśnij trzonek uchwytu, aby śruba zablokowała się w uchwycie.
Następnie włóż uchwyt do ramy.



7PL

2. Aby zamknąć markizę, przytrzymaj uchwyt i pociągnij trzonek uchwytu do góry.
Przytrzymaj ekran w poziomie i powoli popchnij uchwyt z powrotem do pokrywy.


	hortensus 1-1
	Side Awning NL FR DE IT ES
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32

	Side Awning-EN
	Side Awning-PL



